



Ketten-

$37 + 29 = 66$

$66 - 30 = \underline{\quad}$

$\underline{\quad} : 9 = \underline{\quad}$

$\underline{\quad} \cdot 8 = \underline{\quad}$

$\underline{\quad} + 25 = \underline{\quad}$

$\underline{\quad} - 28 = \underline{\quad}$

$\underline{\quad} \cdot 2 = \underline{\quad}$

$\underline{\quad} + 14 = \underline{\quad}$

$\underline{\quad} - 69 = \underline{\quad}$

$\underline{\quad} \cdot 8 = \underline{\quad}$

$\underline{\quad} : 6 = \underline{\quad}$

$\underline{\quad} + 37 = \underline{\quad}$

$\underline{\quad} - 7 = \underline{\quad}$

$\underline{\quad} + 38 = \underline{\quad}$

$\underline{\quad} : 8 = \underline{\quad}$

$\underline{\quad} \cdot 6 = \underline{\quad}$

$\underline{\quad} - 18 = \underline{\quad}$

$\underline{\quad} - 25 = \underline{\quad}$

$\underline{\quad} + 66 = \underline{\quad}$

$\underline{\quad} - 23 = \underline{\quad}$

$\underline{\quad} : 9 = \underline{\quad}$

$\underline{\quad} \cdot 6 = \underline{\quad}$

$\underline{\quad} - 24 = \underline{\quad}$

$\underline{\quad} \cdot 2 = \underline{\quad}$



Aufgaben

$6 \cdot 7 = \underline{\quad}$

$\underline{\quad} + 19 = \underline{\quad}$

$\underline{\quad} - 58 = \underline{\quad}$

$\underline{\quad} \cdot 9 = \underline{\quad}$

$\underline{\quad} + 27 = \underline{\quad}$

$\underline{\quad} : 9 = \underline{\quad}$

$\underline{\quad} \cdot 8 = \underline{\quad}$

$\underline{\quad} + 32 = \underline{\quad}$

$\underline{\quad} : 10 = \underline{\quad}$

$\underline{\quad} \cdot 9 = \underline{\quad}$

$\underline{\quad} - 45 = \underline{\quad}$

$\underline{\quad} : 9 = \underline{\quad}$

$\underline{\quad} \cdot 3 = \underline{\quad}$

$\underline{\quad} \cdot 8 = \underline{\quad}$

$\underline{\quad} - 36 = \underline{\quad}$

$\underline{\quad} : 6 = \underline{\quad}$

$\underline{\quad} \cdot 7 = \underline{\quad}$

$\underline{\quad} + 18 = \underline{\quad}$

$\underline{\quad} - 23 = \underline{\quad}$

$\underline{\quad} + 12 = \underline{\quad}$

$\underline{\quad} : 7 = \underline{\quad}$

$\underline{\quad} \cdot 3 = \underline{\quad}$

$\underline{\quad} + 19 = \underline{\quad}$

$\underline{\quad} - 16 = \underline{\quad}$





Ketten-

$45 + 38 = 83$

$83 - 20 = \underline{\quad}$

$\underline{\quad} : 9 = \underline{\quad}$

$\underline{\quad} \cdot 6 = \underline{\quad}$

$\underline{\quad} + 36 = \underline{\quad}$

$\underline{\quad} - 56 = \underline{\quad}$

$\underline{\quad} \cdot 2 = \underline{\quad}$

$\underline{\quad} + 56 = \underline{\quad}$

$\underline{\quad} - 93 = \underline{\quad}$

$\underline{\quad} \cdot 6 = \underline{\quad}$

$\underline{\quad} : 2 = \underline{\quad}$

$\underline{\quad} + 58 = \underline{\quad}$

$\underline{\quad} - 48 = \underline{\quad}$

$\underline{\quad} + 33 = \underline{\quad}$

$\underline{\quad} : 8 = \underline{\quad}$

$\underline{\quad} \cdot 5 = \underline{\quad}$

$\underline{\quad} - 13 = \underline{\quad}$

$\underline{\quad} - 18 = \underline{\quad}$

$\underline{\quad} + 67 = \underline{\quad}$

$\underline{\quad} - 31 = \underline{\quad}$

$\underline{\quad} : 9 = \underline{\quad}$

$\underline{\quad} \cdot 7 = \underline{\quad}$

$\underline{\quad} - 23 = \underline{\quad}$

$\underline{\quad} \cdot 2 = \underline{\quad}$



Aufgaben

$8 \cdot 8 = \underline{\quad}$

$\underline{\quad} + 19 = \underline{\quad}$

$\underline{\quad} - 78 = \underline{\quad}$

$\underline{\quad} \cdot 6 = \underline{\quad}$

$\underline{\quad} + 26 = \underline{\quad}$

$\underline{\quad} : 8 = \underline{\quad}$

$\underline{\quad} \cdot 4 = \underline{\quad}$

$\underline{\quad} + 32 = \underline{\quad}$

$\underline{\quad} : 10 = \underline{\quad}$

$\underline{\quad} \cdot 7 = \underline{\quad}$

$\underline{\quad} - 15 = \underline{\quad}$

$\underline{\quad} : 9 = \underline{\quad}$

$\underline{\quad} \cdot 10 = \underline{\quad}$

$\underline{\quad} \cdot 2 = \underline{\quad}$

$\underline{\quad} - 6 = \underline{\quad}$

$\underline{\quad} : 6 = \underline{\quad}$

$\underline{\quad} \cdot 7 = \underline{\quad}$

$\underline{\quad} + 28 = \underline{\quad}$

$\underline{\quad} - 53 = \underline{\quad}$

$\underline{\quad} + 12 = \underline{\quad}$

$\underline{\quad} : 5 = \underline{\quad}$

$\underline{\quad} \cdot 3 = \underline{\quad}$

$\underline{\quad} + 29 = \underline{\quad}$

$\underline{\quad} - 35 = \underline{\quad}$